Mrs Mahoney Groups

Literacy & Numeracy


· Pgs. 76 -78 pgs. 11 & 12 pg 30 Multiplication:- only use long multiplication method when completing questions you can check with a calculator after and don’t worry about writing estimates.

· Pgs 87-88 Division

· Literacy complete pre reading task and then read article.

· Oral language - A) write down the 3 tasks that you and or members of your family do every day that involves the of  use technology/ computers
B) find out from all  members of your family if they think we are overly dependent on technology write whether they agree or disagree with the statement.

· Cause and effect write down an example of cause and effect
Genre Features:- copy out features of discussion feature and check that article meets the criteria.

· Compound words:- question 1 & 2
Abbreviations complete task

· Writing discussing technology children under 16 should not be allowed to have mobile phones.

· Comprehension activities - 
Remember questions 1-4
Think - questions 1-5
Over to you Questions 2 & 3
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Division 2

(How many times is 26 contained in 4-42?
Example (442 +26=[7])
Estimate first. The long division method

442 + 26 017
S BeT 26[4-42

= less than a unit

4-42 = 26 1Z
L Check your answer by multiplying (0-17 x 26 42

Use the long division method when doing these. (Estimate first, check by multiplying.)
1. (a) 888 + 24 (b) 828 +18 (c) 9:72 + 36 ) 722+19 (e) 8-48 =16
2. (a) 7:02 +27 (b) 6:84 +38 (c) 9-89 =43 (d) 475 (e) 5-44 + 32
3. (a) 7-54 + 29 (b) 7:36 + 46 (c) 3:06 +18 (d) 782 + 46 (e) 8-96 + 56
4. (a) 845 + 65 (b) 8:05 +23 (c) 9:25 +37 (d) 9-84 + 41 (e) 9-44 + 59

Now do these.
(a) €782 +17 (b) €9-52 + 28 (c) €9-72 + 36 (d) €7.74 + 43
(@) 912m + 19 (b) 9-86m + 34 (c) 9-45km + 27 (d) 8-28km + 46
(a) 8-74kg + 23 (b) 9-88kg + 38 (c) 8161 + 48 (d) 9-541 + 53
(a) €798 + 57 (b) 8-96km + 64 (c) 9-49kg + 73 (d) 8821 +18

Crack the code

Write the correct letter above each answer as often as it occurs.
(Work out each answer first.)

P=984:8 B=918+6 1=9.27 =9 E=9.66 + 7
R=741+13 H=816+17 A=851+23 L=756+27
S =544 + 34 M = 846 + 47 C=952+56 K=832+64
N=783+29 Y=912+:38 0=798 + 42 T=874+19
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Division 2

Problems Estimate, solve, check
using your calculator.
1. How many times is 17 contained in 64-67

. Divide 96-2 by 37.

. How many times is 29 contained in 8-12?

. David multiplied a number by 46 and got 82-8. What number did he multiply?
. Peter divided 9-01 by 53. What answer should he have got?

. 28 times a number is 78-4. What is the number?

. When | multiply two numbers together the answer is 9-52.
One of the numbers is 34. What is the other number?

. 49 x || =68-6. Find the missing number.
. Ann divided 95-4 by 53. What must be added to her answer to make 3-4?

A car travelled 486km on 18 litres of petrol.
How far per litre did it travel?

The shopkeeper paid €8-64 for 24 apples.
What was the price of each apple?

w A ribbon 9-72m long was cut into 36 equal pieces.
972m  What was the length of each piece?
. | divided 89-3 by 47. What must | add to my answer to make 3-47?

. Sandra divided 6-46 by 38. How much greater than 0-08 was her answer?

. Patricia subtracted 3-79 from 99-99. She then divided the answer by 26.
What was her final answer?

. Jeff added 3-78 and 5-84. He then divided the answer by 37.
What was his final answer?

. Rose divided 43-7 by 23. How much less than 5-04 was her answer?

. John divided 8:16 by 34. By how much was his answer greater than 0-06?

36 ' A dealer paid €8-28 for 36 oranges. What was the price of each orange?
oranges

. Avril had €10-00. She bought 18 clips and still had €4-78 left.
What was the cost of each clip?
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The World Wide Web at Our Fingertips

Pre-reading

P r e n .

Learning Ovutcomes

Before you read the passage below, think about your
relationship with technology. Does technology play a

big part in your everyday life? How?

Technology is everywhere. We are
surrounded by it at home, at school and at
work. Many people believe that we have
become overly dependent on technology. It
is important to recognise that technology has
changed the world, but do we depend on it
too much?

Firstly, one cannot deny that technology
is amazing. It is quick, casy and efficient.
Technology allows us to communicate with
anyone, anywhere in the world in an instant.
This has massive benefits such as keeping in
contact with family and friends around the
world, helping to track down missing persons
and so on. Secondly, technology allows us to
do a lot without even leaving the house. You
can buy your groceries, learn a language,
watch a movie, listen to an album, or book
a holiday using the internet! Apart from this
being very convenient, it has also made life a
lot easier for those with mobility difficulties.
Think of how much easier it is for somebody
in a wheelchair to shop online rather than

technology helps to save lives. It does this in  to laziness and lack of exercise which in turn

travel to a supermarket! Most importantly, their couches to shop. This in turn can lead

ARE WE OVERLY DEPENDENT ON TECHNOLOGY?

AN e s

Fl\e

many different ways, for example, powerful
computers can help to predict natural
disasters and warn people in advance. In
the field of medicine, doctors and scientists
around the world are curing diseases with
high tech machines and computers.

However, some people think that we have
become overly dependent on technology.
Many people are addicted to their phones
and computers. Because people spend so
much time online they miss out on human
contact and interaction. The existence of
online shopping, while convenient, means
that individuals do not even have to leave

Show notes

i
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@% Genre Features

Discussion writing examines both sides of an issue.
Remember, it is important to present a balanced
argument.
Good discussion writing has:
© An opening statement to explain the topic
® Arguments for the topic and evidence
to support them
© Arguments against the topic and evidence
to support them
© A closing statement
Examples of discussion writing can be found in:

© Newspapers IS SOCIETY

© Magazines BECOMING

Can you think of any other places where MORE »

discussions can be found? EQUAL?
'here have been  wealthier. However,
vastgainsin  a growing number

‘wealth over the of people argue

last 30 years. that this wealth

Soclety, in general, Is not being

is becoming distibuted equally.

Magazine article

Genre Analysis

Now, work as a detective and try to find some of the features of discussion
writing in the passage.
Read the passage again and answer the questions.
. What is the rhetorical question asked in this
discussion? Y ST o e
. What strong/persuasive adjectives are used =z
in this discussion?
. Give three reasons in support of technology.
. Give three reasons why we are overly
dependent on technology.
. How does the writer feel about technology
at the end of the discussion?

Weezzl0 o o
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Comprehension Activities

Remember
According to the writer, what things can you do using
technology without leaving your house?
How has technology helped to save lives?
Write down three disadvantages of modern
technology, according to the writer.
What suggestion does the writer make at the end
of the discussion?

k

Can you think of other disadvantages of modern technology?

Describe them.

What do you think the writer means by the term ‘technology overload'?
Think about jobs that are linked to technology. Make a list of as many
as you can.

How would having a ‘tech-free’ day in your family be different to

a normal day?

Ask your parents/grandparents what life was like before the birth of the
internet. Write a paragraph about it.

Over to You

I. Would you have liked to live in a time with limited technology or do you
prefer living in today's digital age? Give three reasons to support your
answer.

Write a paragraph about your favourite website. Is it a social media site?
Is it online gaming or music? How often do you visit it? Why is it your
favourite site?

Design your own website!

Include the following: name

of website, target audience,

main features, other features,

logo, colour scheme,

illustrations. Draw the home

page and present it to your

partner/group.

% Show notes
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Vocabulary: Compound Words

Make a list of all the compound words in the passage. Explain the
meaning of each compound word to your partner. Use a dictionary to
help you if necessary.

Read the list of more unusual compound words below. Match the compound
word to it's definition. Write the word and it's definition into your copy.

Unusual Compound Words

Beeline Preventing, or made of material that prevents, sound passing
through

Superimpose | A rope o wire stretched tightly high above the ground, on

‘which acrobats perform feats of balancing Compound
Soundproof | To go quickly and directly towards something \Words

Forgive Know the meaning of widespread
alongside
afternoon
Understand | Place one thing over another so that both are usually stil clear egesight

Overdue Metal loops that can be locked around the wrists

Handeuffs | Stop feeling angry towards someone for a mistake they made

Tightrope | Has not yet arrived

Abbreviations

(O'O‘ Grammar:

An abbreviation is a shorter form of a word or phrase. We
pronounce abbreviations exactly like the longer version of the word.
Some abbreviations have a full stop after them (Prof. and etc.) but
some do not (cm, mm). Abbreviations are not used in formal writing
very often.

kmph

% Show notes
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Abbreviations

Read the sentences below. Each sentence contains a word that has an
abbreviation. Can you swap an abbreviation from the table above into each
sentence? Write the abbreviated versions of the sentences into
your copy.
Mount Etna in Italy is one of the most active volcanoes
in the world.
. My doctor's name is Doctor Harris.
. There are lots of extra curricular activities available in our
school, for example, soccer, drama and art.
My table is 78 centimetres long. .
. A cheetah can run up to 120 kilometres per hour. Mt Etna
. We ate lots of food at the party, chips, cake, sweets, et cetera.

Writing: Discussing Technology

Write your own discussion. Choose one of the following topics:

@ Should technology replace teachers?

© Children under 16 should not be allowed to have mobile phones
Before you start, write a list of arguments for and against your chosen topic.
Use the hints below to help you.

Introduction

Ariumenis For

Arguments Against

Conclusion

Show notes

R A
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Mental Problems

1. There are 178 straws in a box.
How many straws are there in 10 boxes?
2. There are 25 plums in a bag.

How many plums are there in 11 bags?

3. What must be added to 9 times 9 to make 100?
4. By how much is 150 greater than 10 times 12?
5. M There are 12 eggs on a tray.
How many eggs are there on 9 trays?

There were 100 sweets in a bag.
When 8 children had each taken 9 sweets from the bag,
how many sweets were left?

7: Pat had 60 balloons.
He gave 7 balloons to each of 6 children.
How many balloons had he left?

James has 7 bags of apples and 9 loose apples.
How many apples has he altogether?

How many oranges altogether are there in 8 boxes?

10. What must be added to the product of 45 and 20 to make 1000?

11.

David bought 9 packets of stamps.
stamps How many stamps less than 350 was that?

12. What is the difference between 17 times 236 and 27 times 236?

O
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Figure it Out 5

A newsagent sold 786 newspapers each week.
How many newspapers did she sell in a year (52 weeks)?

A factory produces 647 mobile phones each day.
How many phones will it produce in 39 days?

A cinema has seats for 278 people.
What is the total number of people that may be seated
for 26 showings of a film?

An aeroplane can carry 386 passengers.
How many passengers can 29 aeroplanes carry?

A theatre can seat 248 patrons.
How many patrons less than 10 000 attended 37 performances,
if all the seats were occupied for each performance?

There are 278 pages in a book. >
How many pages less than 9000 are there in 28 such books?

A forester planted 36 rows of trees
with 244 trees in each row.

How many more trees must he plant
to make a total of 10 000 trees?

9. Joe was asked to multiply 356 by 48.
Instead he multiplied 356 by 84.
By how much was his answer too big?

=N

10. A chocolate factory produced 384 bars each day.
How many bars less than 11 000 were produced

during the month of February (28 days)?

1 | A fruit merchant has 78 boxes of oranges with 148 in each box
and 52 boxes of apples with 148 in each box.

How many more oranges than apples has he?

12. By how much is the product of 687 and 94 greater than 56 7827

O
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Multiplication 2

1. Estimate first and then work these out using long multiplication.

32031

7628 x 47

3927 x 18

8485 x 23

6403 x 82 7986 x 24

16:94 x 58 81:47 x 35

2. These old road signs need to be changed to kilometres. Multiply 1-609 by the amount on each
sign to convert them:

3. Round and estimate — use your head! (Then check your estimate with a calculator.)

22:79x 48 @ 35821x8
7831)(43@ 5578 x 99

4. Multiply their weight in stones by 6-35 to convert it to kilogrammes.

B ‘m R E W

14 stone 67 stone 708 stone 18 stone 34 stone

9829 x 72

43-75 x 81

6. A rollercoaster is 1-476km
long. If a carriage travels
around it 83 times a day,
what distance does it travel?

km

5. A tour group paid €12:85 each
for a guided tour of the Louvre
Museum. How much did they pay
in total if there were 26 people in
the group? €

. Sam went for a jog every day in
July. If his average daily distance
was 7294km, how far did he jog
in total? km

Luigi uses a 0-485kg tin of tomatoes
in each spaghetti bolognese dish he
makes in his restaurant. If he sold 47
dishes in one day, how many kg of
tomatoes did he use? kg

. If you leave the tap on while you brush 10.The laces of these football boots are each
your teeth, you will use an extra 11-04l 70-83cm in length. If a factory is making
of water. How much extra water would 49 pairs of boots, what is the total length

you use in a week if you brushed your of lace they will need?
teeth twice a day?
l cm
o~ -
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Multiplication 2

Multiplying numbers with three decimal places

Example (4367 x 5 = [7])
(a) By estimation
4:367 x 5
= 4x5
= 20

(b) Using repeated addition
4:367
4:367
4-367
4:367
+_4-367
21-835

4-367 x 5 = 21-835

Use the repeated addition method and the multiplication method when doing these.
(Estimate first. Round the decimal number to the nearest whole number when estimating.)

1. (a) 3428 x3 (b) 8926 x 2 (c) 5-387 x5 (d) 6293 x 4 (e) 4537 x 6
2. (a) 8:472x 4 (b) 8:078x 5 (c) 9-709 x 2 (d) 8497 x 6 (e) 9-768 x 3

(c) Multiplication
4-367
x5

Use the multiplication method when doing these. (Estimate first.)
3. (0) 5297 x7 (b) 7298 x 9 (c) 6:832x8 (d) 8:503 x 3
4. (a) 6-587 x 6 (b) 6-009 x 4 (c) 8037 x4 (d) 9-763 x 7

(e) 9-005 x 6
(e) 9-876 x 8

Multiplying by two digits

~

(Exumple (3:579x 26 = [7]) or ((Make 3-579 twenty-six times bigger.)

el

(b) Using long multiplication
3-579
x 26
21474 — (6 times 3-579)
+ 71580 — (20 times 3-579)

(Cnn we use (i) multiples and (ii) long multiplication?

Estimate first (3-579x 26 = 4 x 26 = 104)

(a) Using multiples
10 times 3-579 = 35790
10 times 3-579 = 35-790
6 times 3-579 => 21-474
26 times 3-579 = 93.054

(3:579 x 26 = 93-054 )

Both methods are very much alike. Explain!

Was 104 a good
ate?

\ 4
Do these both ways. (Estimate first, check using calculator.)
5. (a) 5387 x 16 (b) 3-468 x 24 (c) 3197 x 27 (d) 2-438 x 36

6. (a) 2:896 x 23 (b) 4798 x 19 (c) 2-496 x 38 (d) 1987 x 42

(e) 3-419 x 29
(e) 2936 x 34

Use the long multiplication method to do these. (Estimate, check using calculator.)
7. (a) 4287 x 18 (b) 3-298 x 26 (c) 2-837 x 35 (d) 1-359 x 48 (e) 1634 x 53
8. (a) 2:068 x 46 (b) 1-307 x 59 (c) 1-287 x 68 (d) 1-059 x 79 (e) 1-009 x 83

®
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Write the answers to these.
1. (a) €14:38 x 27 (b) €42:35x 19 €27-39 x 34 (d) €19:67 x 46
. (a) 36-89kg x 26 (b) 48-23kg x 18 26-95kg x 37 (d) 14.79kg x 53
. (@) 53-68km x 17 (b) 24-76km x 39 20-68km x 42 (d) 15-39km x 62
. (a) 32-841 x 28 (b) 19-831 x 49 59-341 x 16 (d) 16:571 x 58

. A coat costs €68-49. Find the cost of 13 coats.
Vi g
‘ £ / A football costs €23-59. Find the cost of 28 footballs.

. Find the cost of 45 scarves if each scarf costs €17-49.
. A tank can hold 5865 litres. How many litres could 17 such tanks hold?

(%)

A reel of wire is 47-85 metres long.

= What is the total length of 19 such reels?

@ A box weighs 24-38kg. How much would 36 such boxes weigh?

. An athlete runs 53-87km each week. How many kilometres does she run in 18 weeks?

. A shopkeeper bought 36 games at a cost of €27-69 each.
How much did he spend altogether?

Crack the code

Write the correct letter above each answer as often as it occurs.
(Work out each answer first.)

M = 4297 x8 56-49 x 7 = 89:36 x 6
) 9-387 x 7 4-389x 9 = 6748 x 3
G 3254 x 28 1.786 x 37 = 1907 x 46
N 3807 x 23 2394 x 38 = 50-27 x 15

909-72 39-501 | 20-244 . 66-082 q91-112

65-709 -2 395-43

91-112 | 909-72 [ 65-709 | 536-16 | 395-43 | 39-501 | 87-722
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Multi li(ﬂﬁo“ 2 Estimate, solve and check

using your calculator
Problems /
1. Paul wrote the number 6-87. Susan wrote a number 9 times
6 that amount. What number did Susan write?
2. Avril chose the number 9-08. Alan chose a number 8 times that amount.
What number did Alan choose?

The teacher wrote the number 7-54 on the blackboard.
75"‘ Niall wrote a number 16 times bigger than that in his copybook.
= What number did Niall write?

. Joan thought of the number 9-67. David was asked to find a number that was 57 times
that number. What number did David find?

;;@‘ » There are 17 children in fifth class. Each child was given a card with
the number 58-65 written on it. If the numbers on all the cards were
added together, what would the total be?

. What number is 18 times bigger than 0-938?

. Alan thought of the number 5-379. Clare wrote a number 13 times that amount.
What number did Clare write?

. Betty and Angela wrote two numbers. If Betty’s number was 4-695 and Angela’s
was 16 times that amount, what number did Angela write?

Omar was asked to choose a number-card from a box.
He chose 2:674. He was asked to multiply the number on the card by 29.
What was the correct answer?

. Jim was asked to multiply 3-085 by 27.
What answer should he have got?

| Smith cars

4 A car can travel 9-675km per litre of petrol.

How far should it travel on 9 litres of petrol?

. Tom was asked to multiply 8:76 by 78. Nicola did a sum and got 695-84 as
her answer. By how much was Nicola’s answer greater than Tom's answer?

. Instead of multiplying 0-847 by 58, Paul multiplied it by 85.
By how much was his answer too big?

. Ann multiplied 0-897 by 39. Sarah multiplied 0-897 by 93.
What was the difference between their answers? (short way)





